ERRAROHRBERT—I—ZBISH—F
IR HVSVE C1=NAE Y5%R—)

202418178 _(K) 10DO0#aE38

‘(fﬁ} W ‘I%EH?’JF&] | & 1500 =

[AE%] 17%&:1,500,000 § ~ 237&:600,000 ™  37%&:375,000F  43&:225,000 . 53&:150,000 1

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
AHIEE :35. -1-1- . - WTEZ (#18)
115l | 7A1a9% 44 z 1(3_5)9 1-1-1-1 | 38.4 1 (if?) gﬁ{g‘i%
R:O—RAFO7 B:FVIR=—) FvYEAVRT7—L
N <, o BEXK :36. -3-3- . - S (Hors)
2l8l13| ZU—rg 1w 4 5 = 1(346;7 3-3-3-2 | 38.9 3 (4_325; Liieis
RiRLTAY 8:Y3VITR—- /=Y Tr—1I
==, R o4 | ABEX 1:36.8 4-4-4-4 |38.8| — 4 519 | GHERE (18
31710 TZXT« =LK 56.0 (3/4) (-3) | BAIEAER
RRZAMIF—U7 B:RYIa—-IbALY (e ]
~ )= ft 4 | HFRY 1:37.3 6-6-6-5 |39.1| ~— 2 | 457 | FEEEESh (A6HE)
4 9 ITUXY T« 54.0 2172 ) 1%515?[]5 0
R:FISU—vavrTor— B:RIAAAHS RRKS
» _ v 5 | ENEE 1:37.3 5-55-6 | 39.1| — 5 519 | KOEHE (HfE)
RINZ—=N\DVR B:N—=7 PR E O
== €y 7 | L& 1:37.4 2-2-2-3 [39.7| — 6 485 | EEEX (o)
6l5/7|/N/Z=vT 56.0 @) -4) W) Loz
RiEVFOVY 8:95—NvIR RIFERHUSZ
1|38 :37. -8-8- . - FHEE (ol
M . B e 8 7 R AR Pl |
RN=-F4N=F« #:Za-rOO0-7 YUNIIYFYTr—L
Dy, 4 6 | RHEES 1:37.6 7-7-7-7 |38.8| -— 9 521 | NISE— (i)
8 3| FTAVT=Y 56.0 1/2) o |EhmE &)
RiII—IVTAT—R B:X—T+EVR EARKS
. s 4 | JI|SEKXER 1:37.8 11-11-11-1137.9 | — 7 531 | IRASR (A6HE)
9l7 11| 772tbd—V 56.0 (3/4) 4y |BAEZ
RiTUF—Y BINRLFIEX INa
= s 4 | WWOER 1:38.0 12-12-12-12| 37.5 | — 10 | 489 |MIEA (HOF8)
10 g | NIVLRFT v P 5.0 a1/2) ¢s) | _B) KB
R:FA4—TAHhA &:3/NF 2 RONU—T 4 —)LRT 7 — LR
e R Y 4 4 | NER 1:38.8 8-10-10-10 | 39.1| — 12 | 435 |KAIE (#018)
1118]12| BF YT 1 —7 54.0 (@) (+4) | HLLZE—
KR:O—-LILFLs0 #:7)LA—0O FB4S
P P9 — o6 | BATHIA 1:38.9 10-9-9-9 [39.3| - 11 | 491 | EHE (@08
1200 5 | E—E—EILY 6.0 /2 #9) W2
R:IVI—=FF+a—k B:IHIX RS
s )5S s 4 | BEED 1:40.5 13-13-13-13/ 39.6 | — 13 | 483 | BBEE (#6018
1300 2 | EY YISk .0 ®) 45y | HLE—
Rty B:FAU19FPIVY HIFHART—TI
@ 11— —@BIEfI
10—7+— 6,7,13,10,1,9,3,12,4,5,11,8,2
20—7F— 6,7,13,10,1,9,3,4,5,12,11,8,2
30—7— 6,7,13,10,1,9,3,4,5,12,11,8,2
43—F— 6,13,7,10,9,1,3,4,5,12,11,8,2
0 ILRE
BB 6 160/ JA R 6-13 2004 & 5-8 500 3EE 6-10-13 780
B B 6 120/ 6-10 2404 =] 5-8 6804 3EE 6-13-10 2,250
13 1504 10-13 3904 5 & 6-13 420
10 160 BB 6-13 610

ABIC OV TRUTEREERRODDZE. THRIIZEL.




